Pre-Calculus Name: !/\ 2N

REVIEW 12.1-12.2 3

For numbers 1 — 2, construct a table to find the indicated limit.
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1. lim(x* -1) 2. Jim X2
x—2 -5 x+5
X ¥y X Y

1.99 2. 960! —-5.0001 | 0. 000

1.999 | 2. 77¢ @ —5.001 |-10.001 ~10
1.9999 | 2.99% 6 -5.01 | -(d-0)
2.0001 | 3,004 —4.9999 | -4. 7947

2.001 | 2,004 —4999 | -4.997

2.01 3, 040l 499 | —9.99

For numbers 3 — 7, use the graph of f'to find the indicated limits.
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For numbers 8 —23, use properties of limits to find the indicated limit. It may be necessary to rewrite an expression before limit
properties can be applied.
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For numbers 24 — 25, a piecewise function is given. Determine the indicated limit, or state that the limit does not exist.

24, f(:\/_-‘,{"+6 gl 2) lim £(x) b) lim f(x) ) lim f(x)

x+9if x 21 Xl el

e (v (12 DUE.

X +2ifx>2 x>

@, o

25, f(x)={x2 Foifx<2 2) lim £(x) b) lim /(x) o) lim £(x)



